MTH 261, Exam #1, Part |, Spring 2019 Name

Instructions: You must sh?w all work to receive full credit for the pro
calculator for this section
exact answers.

1. Use the graph below to answer the following
questions. (3 points each)
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3. Find the equation of the tangent line at x = 1 of the graph f( ) = f;. (12 points) ( [
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5. Find fyy and fy,, for the function f(x,y) = x*y* — x2y>. (10oints) 7
” = - 3 o T 42 _ ¥

fy = 4x Yo 2xy £y = 3y 3%y
’?x\g = ‘2_7(5\11___ Qﬂk\f" Fyxf b % “(o‘f~7

hether each of the critical points

6. Use the first derivative test (create a sign chart) to determine
minimum (or neither). (12 points)
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7. Use the second derivative test to determine whether each of
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8. Sketch the graph

of the function f(x) =

X

intercepts, critical points, and asymptotes. (16 points)
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Evaluate lim
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'—5 numerically. Show a table of values to support your evaluation of the limit.
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12. Find the first 4 de
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15. Sketch a graph of a function with the following properties: (6jpoints each)
a. fisincreasing and concave down on (=0, 1), and [ is infreasing and concave up on (1, o).
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